Problem of the Month

September 2006
A university club is holding a 50-50 Raffle. 

In the raffle, the winner gets half the money from ticket sales. They are selling 2197 tickets numbered 1 thru 2197; tickets are being sold for $1 each.  
The winner will be determined by a roll of three specially created, 7-sided dice which have faces numbered 1, 2, 3, 5, 7, 11, and 13. 

The numbers turning up on the three dice will be multiplied together to determine the winning ticket number.  You are given first choice of buying tickets. 
What is the fewest number of tickets you must buy to be assured of obtaining all potential winning numbers? 

(Note: 2197 = 133)
Problem of the Month Rules:

· Submissions must be dated; only the last submission will be graded.
· Submissions must include a complete mathematical justification along with the answer.
· Submissions may only be made by individuals or groups of two.

· Submissions are due before 5 p.m. on September 20, 2006; they may be given to Dr. Leigh Lunsford (Ruffner 346), Dr. Phillip Poplin (Ruffner 329), or Dr. David Shoenthal (Ruffner 344).
Pi Mu Epsilon Problem of the Month website: http://www.longwood.edu/staff/shoenthaldw/potm.html
